Math 099 - Assignment 4 Name \<€5
September 24, 2018 Score

Show all work to receive full credit. Supply explanatlons when necessary. This assignment
is worth 5 points.

1. Indicate whether each compound equation or inequality is a conjunction or disjunction.
Then solve, and write your answers as unions or intersections of sets.

(a) 3z4+2=8 or 3x+2=-8- 9__}3‘&9”91{;99_
k=06  3x=-/0
x= 8 e X=-F

w ER z: i-%,al

(b) 4z +3 < 19' and 4:1:+'3 > -5 COMU:&\M})CT‘O")
"—/x /6 Hx =-8
X & \_{ ANR X = -a

EETIRTEEAN zx\x- | |
%X X <Y Ans )(..-QS = %X\—Qé )(4‘—\3

\./

()53:>25 or 7x—8< 29 D\gk\w\)U\'\Ol\z

)(}_5 ca (7x5“9\

"o

-
//’ - X - 34”
L ix =5 0 Fx | w437
’\\ !
S _ ? 5
R = % X \ = 3 o X295y |

| \k et
(d) =2z > 10 and 4z > 64
Co;o A UNCT1oN

X<=-5 avn X 2> \b

Sx | x<-58 0 Ix|lx>6s



